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Answer the Qllestions from any one option.

OPTION-A
" (Microeconomics)
Paper . coM-HG-1016

OPTION-B
( nvesting in Stock Market)
Paper . coM-HG-1026
Full Marks : 80

The : Three hours

fl{:zgu Tes in the margin indicate
Marks for the questions-
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OPTION-;
( Microeconomi,g ) v

Paper : COM-HG-; 016

1. (A) Answer the followin
'€ Quest;,
G ons :

oo 2P BT ol ¢ 1x5=5

() What is the shape :
curve, if Bd = «. of demand

ﬂﬁEd=oc@’m
R =2 PR e g

(i) Mention a property of ;
f indj
curve. difference

R U O
of W'Wl
(iii) What is production function ?
Besima Fow T 153 @i e

. » Draw AR and M
competition.

@ o ST MR
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() Who's name is associated with
Revealed Preference theory of
consumer behaviour ?

AT el A5 TIOR TYRS
(e _
(B) Choose the correct answer :

SR ot e 9 ¢
U ‘Price of the commodity is the
factor of Demand’. (True/ False)

mmmsﬁm@vﬁwﬂl’ | :
(o%/ )

(W) Tota] cost is the summation of :
d Total

(@ Total Fixed Cost an
Variable Cost :

(b) Average Cost and
Cost

() Real Cost

(d) Selling Cost and OPF°
Cost -

5w B R
(c) Wmm;{mm
(d) ﬁgﬁmqﬁ;wﬂ'aﬂ

1x5=5

Marginal

-and Money Cost
rtunity
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(171 i
(iii) \;Vrhat is the root ¢
oblem ? Ause of Economi
| c

(@) Investment
(b) Saving
(c) Scarcity
(d) Population
QAT T 2y .
(@) R e
(b) AN
(c) Tl
(d) PRy
(iv) If the price o
f Lux i '
to Rexona, then t}?efa(’imng relative
@ Lux will increagg 0 "
(b) Rexona will incre
a
(:Z) Lux and Rexong wjle
(d) Luxand Rexonawin ‘nerease
s i N decrease
(TS IR SiRme e 2+ =,
(a) #ASS anB?
(b) IR A
(c) F (AT QAfGy
(d) T WI$ @RI .
¥ AR
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ket means

\ (v) Oligopoly mar
tion amons large

1 (a) comp¢ ti

L ‘ firms

\ ' (b) competition
(¢ competiti |

buyers
ong buyers

|
‘ and sellers

2. Answ
er the following question® :

&R
R T i 8
properties o

(@) .
?fler.ltlon two impOrtant
difference curve-

Fasts ﬁs‘r@'w@‘
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3.

(b) Mention two conditig,,
path. S of expansion

TR 9i%q ms@%w
|

(c) State two assumpti,

Preference theory. s of Revealed

(d) Write two measurin
elasticity of demang

(e) Define normaj gooq wig, “fafs forl |

BIIPTR el ey f;’:mme.
|

Answer any four questiong

Ven below :

wee Al Rzt Flﬁbfm % Sx4=20

(@) Explain the Possib; °

e . lig
i ati le .
discrimination unde, Mon, S of price

| qeSH TuRe TRes Poly market.
AT NS Ty R W

d explaj
) State an Plain the
b of demand. crosS‘elas.ticity

mmﬁ%mﬁ@mmw
4 |
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(c) Analyze the ‘Prisoner DileI:lma
approach under oligopoly market.

™ AR romEr T AR IR
! Reaet
cy?Howcan

(d) What is economic efficien 2
it be explajned under monopolistic
Competition P

SRS v s gart? T T
il meﬁiﬁmﬁ'
Rl

. o r
(e) Discugg geadweight 10sS unde
Monopolgy market. |
AT e ORI OIS A
jons
() Mentioy the fundamental assumption
of perf&ct competition.

U oo T G IO

4, An . ions *
SWET from the following QU€S™ ), 4=40

\ZT HIDR B ot 2 » Discuss
What is producer surplus of average

producer S in te rve.
) urplus in 1and cU
Variable cost curve and der?, 2+8=10

' Contd.
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DiSCHSs | .
et ' eqmlibrium'
CIMination of firm price~output

under pe .
perfect Competjy; " industry

ST SIReAy oM
ST 57 ) WWmm‘tmﬂW
g Ra

(b) Disﬁﬁgui '
variabl *h between fiee .
able ; x
cost, Explain sh'ed Cost and
.Ort :
't run total

of F
C
and yc,

R I I |
A M%m 3+7=10
P I @ “E'% %”Oﬁezm
Ry, TR
' Ex ol

cs) MICE/ISM/G 8

cost curve i
errn
s
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Or / w3l

What j
at is long run average cost curve?

E s

-a:plaln it in terms of short run
Crages cost curves. 3+7=10

mﬁ'*‘%‘m"ﬂﬁ oG 7 @ 5 gEl e TP
P W @A MGTS T e 4|

laws of return to
ne and
3+7=10

(c S
/ s(t:a'te and discuss the
i ale in terms of isocost 1i
OQuant curves- "
N
ﬁﬁ%ﬂ s AR R TIPS oo
By <R SCEEA ¥

Mention its
jeadership
0+3+5=10

What ;

ba:t is oligopoly market ?

mocllc features. Explain price
el under such market.

d) Db
eflfscuss income effect and subs
€ct in terms of price—Change‘

Segrs e RARE T
%WW|
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OPTION-B
. (Investing in Stock Market)
Paper ; COM-HG-1026

Answer the following. questions : 1x10=10

wets frat o Saw S
(@) Whi.ch of the following options is not
available in India ?

) Commodity futures
() Index options G &)
(75t oRTO)
ons (@T )

() Index future
() Commodity opti

(b) .
?h}Ch of the followin
alid for putual funds in I

g statements is
ndia ?

ks SoUlY
() Exit load is not allowed

W@ﬂww@ﬁm“ﬂ
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(i) Exit load is allg
owg

( m%,;%:: Some cases
iv) Entry loaq I8 noy S ot

e Srafy g
(C) FOrW %
i ard COntI.act q@
rough stock exch, e ® traq
(Whe an,
ther the stq g, ed only

et
=l @f%mm%ﬁﬁw ttrye or false)
(@) Insider trading ¢, b( %;@;i?;

(illegal on
y/ both \
W Ty le 9] o
() oo illegal)
0 oy

a
to the mu

W i)

of a ¢ .

(i) director
(t 117 sharehol der
(iil) p romoter

(i v) auditor

E/ISM/G 12
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hedging
(Whether the statment trué or false)
zﬂiﬁ Eull

&
%mmﬁ@ Wwy’fﬂﬁﬂﬁ)

@M
NIFTY (i e RS
™ e
(i) 1905
(ii) 1oog
% 1996
" (iv) 1904
W
fite the full form of C E.

C
ARE 3 of goorcot Forl!
Contd.
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() Derivatives trading
' 0
market in Jyne i

et
8 Iqluty products
& o capital

AR T Sofs (2000/2001)
Eﬁ T gy O O
bk TR or 71

iy ‘.”hiCh date SEBJ ;. ( X000/ 3003)
trading of shareg of Made o

listed in sto Of ap 3 mpulsory

ck €xchay, St safiien

form ?

AR (s '° SEBI g vy, .
T JARRT mm ﬁmq@ f;;:ﬁ

(i) st April, 2005
S @, S0y 5
i) 1st April, 2005
s G, S00¢ il
(iv) 2nd January, 50,

3 S, 3003 3y
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in not more

Answer the following questions
than 50 Words each : : 2x5=10
wﬁmmmm@ﬁmm@m
w1 iy

@ e are the major stock indices in
SRS gy sy 24 EFTIL & &2

b
P Whatig meant by the term

1nvestment, 5

ey e & =°
: t
(c) Mention two advantages of ;pvestment

in
Mutya] fund.

BB e -
Contd.




3. Answer any four of the £,

in about 200 words each .o“’lng questions

el At
mm%m Yoo B A

(a) Distinguish between
close ended mutug] ﬂ(:ﬁen ended and
d.
T ~IPT w1 2y Ry
fora | @@

(b) F}ive a brief note on Sign;
In mutual fyng SChemelﬁcance of NAV

CORSH! ¥ St
«af6 Gt ey NAVW%wwﬁ

(c) What is the Signiﬁ
average ?

cnifeR O Bleshf fy

(d) Ex}?lail.i the different
derivatives.

&5 AR Rfew

What is the meaning of ?‘ﬁ" ]
tures Opti
the features of an opy ®long 5 giaee

o I gy, Nt
at 7 B TP oy T

¥ g e

C
€ or moving

?

ra‘V‘"backs of

(e)
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. din
m what are the beneﬁts of Onhne tl'a 1 g
of stock 7 Explai
plain.
W&%W’iﬁ“"'gﬁﬁsﬂmwl
r)
. . (any f ou
ARSWer the following quesio™® | 4=40
IGRIK

TS frny TRy fagee il ot ral
ene

(a) Stock market reflects th‘.3 g e

) . reval

eConomic ¢ondition® P con

Country apg hence 17
the economic parometer ©

()  Give the concept of riSk"th ;nve
Varioy S risk associate \
I securitjes market
g T
Rt corars 7gdA A0

QR & R e Eal Contd-
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(c) Discuss the varioyg Sourg _
information needeq to S of financial
investment decisiop take a sound

(d) Briefly discuss the Vo
investment avenyeg % oUs types of
investor. all_able for the

RPN AT Goperes Aoy

CFITR R izeiivy = YR R
(e) Describe briefly the v .‘l

mutual funds availabjy fool'ls types of

RIGIR R Soferg Ry - vestment.

e L It R oS

0 What is derivative
advantages of derivay,  State the
are the participany, ding, Who
market? °

@aﬁwﬁ@m@@mﬁs?%;ﬂ‘%%w
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d(?l'i\;rative_

. . ¢
(9) Briefly explain the r{lecpanlsm 0
trading in currency derivatives-

@@QW@WWW
9N

() What‘ is companY‘analySissis?? Discuss-
€ user of compay 3+7=10

RIS fp @A
Wﬁ?::@mwﬂ'

3000
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